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Nutzungsdauer (Jahre) 

Euro 

Ø 

60.000 

A 

R 

= A + R 
2 

8.000 

Durchschnittlicher Anlagewert und Zinsanspruch mit Restwert 

× i 

×  5% 
Ø Anlagewert ×   Zinsfuß 

Ø Zinsanspruch 

= 3.000 € / Jahr 



Durchschnittlicher Anlagewert 
und Zinsanspruch  

mit Restwert 

Durchschnittlicher Anlagewert 
und Zinsanspruch  

ohne Restwert 

Nutzungsdauer (Jahre) 

Euro 

Nutzungsdauer (Jahre) 

Euro 

Ø 

A 
2 

× i 

Ø Anlagewert ×   Zinsfuß 

Ø Zinsanspruch 
= 2.500 €/Jahr 

50.000 ×     5% 

2 
A + R × i 

Ø Anlagewert ×   Zinsfuß 

Ø Zinsanspruch 
= 3.000 €/Jahr 

60.000 ×     5% 

Ø 

A 

R 

A 
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